pH Indicator Activity
Aim: To use various indicators and buffer solutions to determine which indicators should be used to identify different pH levels.

Materials:
- Pipettes containing buffer solutions 2-12



- Phenol red


- Bromophenol blue


- 96 well plate

- Phenolphthalein


- Universal indicator
- Methyl orange



- Litmus

Procedure

1. Place 3 drops of buffer solution #2 (pH=2) in the first 6 wells in column 2

2. Place 3 drops of buffer solution #3 (pH=3) in the first 6 wells in column 3
3. Repeat using all of the buffered solutions from 4 to 12. Refer to figure 1 as your guide.

Figure 1


Buffer solutions


4. Using the proper order, place 1 drop of each indicator in the appropriate row (Indicator A from 2 to 12, Indicator B from 2 to 12)
5.  Indicator order:
A= Phenolphthalein

B= Methyl orange

C= Litmus

D= Phenol red

E= Bromophenol blue
F= Universal indicator
6. Create a colour chart showing your results  
7. Answer all questions in the analysis section before cleaning up
8. Clean up once you have answered all questions
Results: Design a chart or table to record your results
Analysis questions
1. Why are different colours produced with each indicator?

__________________________________________________________________________________________________________________

_________________________________________________________

2. What coulour will an acid with the pH of 3 turn with Methyl orange?
3. What colour will a base with the pH of 11 turn with Universal Indicator?

4. What colour will an acid with the pH of 6 turn with Phenolphthalein? 

5. What colour will a base of 8 turn with Phenol red? 
6. Explain why not all indicators can be used to find the exact pH of a solution.

____________________________________________________
____________________________________________________
____________________________________________________
____________________________________________________
____________________________________________________

7. An unknown solution needs to be identified, which indicator from the ones seen in this lab should be used? Explain the choice.
____________________________________________________

____________________________________________________

____________________________________________________

____________________________________________________

____________________________________________________

